
LBX SERIES
LED Sign Lighter

SERIES HEIGHT LENGTH & WIDTH

LBX 4.8’’ x 12.5” x 4.7”

ORDERING INFORMATION
Choose the bold face options for the appropriate luminaire configuration for your application and enter on the line above each fixture attribute. 
Accessories may be factory installed, depending on the particular accessory chosen, but still be ordered as a separate line item.

EXAMPLE:

LBX 4 N 24 S 98 1 D BZ

**All dimensions and specifications are subject to change without notice.** REV: 20241029-08

INNOVATION IN ILLUMINATION

INNOVATION IN ILLUMINATION

INNOVATION IN ILLUMINATION

INNOVATION IN ILLUMINATION

FEATURES & SPECIFICATIONS
APPLICATION ─ The high performance luminaire is designed for retail sign lighting. Areas with limited 
accessibility due to luminaire location or where heavy pedestrian or vehicle traffic makes maintenance 
difficult are ideal applications. 
CONSTRUCTION ─ Heavy duty single piece die cast aluminum housing for durability. The fixture is 
sealed from the elements and is wet location rated. The driver is remotely mounted. Up to 8 (eight) 
individual fixtures may be operated off of a single driver enclosure.

FINISH ─ A  corrosion-resistant black E-Coat layer that forms a uniform and all-encompassing protective 
barrier is applied to the fixtures prior to electrostatically applying a super durable powder coat finish. 
Standard colors available: Black, Bronze, US Green, White. Custom colors available upon request.

OPTICAL SYSTEM ─ 3 (three) molded polycarbonate vacuum metalized optics designed to work 
in tandem to efficiently distribute light over the face of a sign with minimal light spillage. Fixtures were 
designed to be mounted at an average spacing of 6’ for uniformity.

ELECTRICAL SYSTEM ─ The Multi-Volt constant current LED driver operates off a voltage input 
range from 120V~277V (50/60 Hz). A 347V/480V driver option is also available. An internal surge protection 
device protects the assembly from up to 10,000 kV surge events. For ease of service the driver is remoted 
to a convenient location with a max remote distance of 100’. 80 CRI LED’s are in 4000K and 3000K CCT. 
Each system comes with a single remote driver enclosure. Each enclosure can hold a maximum of 8 drivers 
to operate 8 individual fixtures.

MOUNTING ─ Standard mounting options available are a straight arm mount, an upswept arm with a 
15” rise and a surface mount arm. Custom mounting options are available upon request. Please contact 
your sales representative for more information.

LISTINGS ─ ETL listed for wet locations. Meets US, Mexico and Canadian safety standards. -40°C to 
50°C ambient operation.

Catalog Number

Project Type

www.techlight.com

LBX

SERIES FIXTURE  
QUANTITY COLOR TEMP/CCT SIGN SIZE MOUNTING 

ARM
NOMINAL 

ARM LENGTH VOLTAGE ORIENTATION FINISH2

LBX 1 = 1 Fixtures N = Neutral White (4000K)   6 = 6’ Wide Sign (1 Fixture) S = Straight Arm 51 = 51” 1 = Multi-Volt1 U = Up Facing BK = Black
2 = 2 Fixtures W = Warm White (3000K) 12 = 12’ Wide Sign (2 Fixtures) O = Offset Arm 84 = 84” 2 = 347V/480V D = Down Facing BZ = BRONZE
3 = 3 Fixtures 18 = 18’ WIDE SIGN (3 OR 4 FIXTURES) 98 = 98” GR = US GREEN
4 = 4 Fixtures 24 = 24’ WIDE SIGN (4 OR 5 FIXTURES) WH = WHITE
5 = 5 Fixtures 30 = 30’ WIDE SIGN (6 FIXTURES) SP = SPECIAL3

6 = 6 Fixtures 36 = 36’ WIDE SIGN (6 FIXTURES)
7 = 7 Fixtures 42 = 42’ WIDE SIGN (7 OR 8 FIXTURES)
8 = 8 Fixtures 48 = 48’ WIDE SIGN (8 FIXTURES)

LLBIDE REMOTE DRIVER ENCLOSURE

NOTE: Fixtures are sold in packages of 1 thru 8 fixtures. 
Drivers with enclosure and mounting arms included.

NOTES
1 Auto ranging Multi-Volt power supply from 120V to 277V input.
2 Driver enclosure is provided standard with a White finish.
3 Custom RAL color matching is available. Contact your Techlight sale representative for  	
    additional information.

NEMA 3X 
type enclosure 
is provided 
with 3/4” 
Conduit 
Entries for 
incoming/
outgoing 
power.

ACCESSORIES (Order as separate line items)

	132406XX Interior - Thru Wall Support Square Plate Heavy Duty 	
132408XX Exterior - Beauty Plate for Regular Arms < 60” 
132409XX Exterior - Thru Wall Support Round Plate for Long Arms > 60”



**All dimensions and specifications are subject to change without notice.**

INNOVATION IN ILLUMINATION

INNOVATION IN ILLUMINATION

INNOVATION IN ILLUMINATION

INNOVATION IN ILLUMINATION

2707 SATSUMA l DR. DALLAS, TX 75229 l PH: 800.225.0727 l

LBX LED Sign Lighter

PHOTOMETRIC CHARACTERISTICS

REV: 20241029-08

www.techlight.com

MOUNTING ACCESSORIES FIXTURE DIMENSIONS
Straight Mounting Arm (S-98)

Offset Mounting Arm (0-98)

End View

Side View

Fixture Weight - 7.35 lbs
EPA - 0.4

Arm Weight - 2.30 lbs 
   0.786 lbs /linear ft

EPA - 0.2



**All dimensions and specifications are subject to change without notice.**

INNOVATION IN ILLUMINATION

INNOVATION IN ILLUMINATION

INNOVATION IN ILLUMINATION

INNOVATION IN ILLUMINATION

2707 SATSUMA l DR. DALLAS, TX 75229 l PH: 800.225.0727 l

LBX LED Sign Lighter

REV: 20241029-08

www.techlight.com

MOUNTING ACCESSORIES

STEEL

   CUSTOMER APPROVAL

  Drawing is approved, proceed with produc�on 

      Drawing is not approved, make changes as noted

  __________________________________________________
       Customer Signature                                          Date  

Custom products require the execu�on of a Techlight NCNR (Non-
Cancellable/Non-Returnable) Product Agreement for order processing

 3X.31  6.00 
 4.50BC 

 120°  .1084 

 1.50 

 
.31 

 2.00 

 .11 

 3.00 

G

1/4

TACK 

ITEM NO.PART NUMBERDESCRIPTIONQTY.
1132409PLTRMSTG12G X 6"RD1
2P142012HBSS 1/4-20 X 1/2 HEX SCREW1
3P1420KNSS NUT 1-4-20 UNC HEX 1
4132409T2.00 STL TUBE1

REVISIONS
ZONEREV.DESCRIPTIONDATEAPPROVED

TECHLIGHT.COM

SCALE:1:4

SIZEDWG.  NO.

A
REV.

MATERIAL

FINISH
PAINT

DO  NOT  SCALE  DRAWING APPLICATION

USED ON NEXT ASSY

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH     BEND 
TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

NAMEDATE

CREATED

CHECKED

ENG APPR.

MFG APPR.

Q.A.

SHEET 1 OF 2 WEIGHT:

CONFIGURATION

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
WWW.TECHLIGHTUSA.COM ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
WWW.TECHLIGHTUSA.COM IS 
PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

PRM2.18.22

132409
WMHA -LBX THRU 

FASCIA PLATE

132409

Exterior Thru Wall Support Round 
Plate for Long Arms > 60” 

 - 132409XX 

STEEL

   CUSTOMER APPROVAL

  Drawing is approved, proceed with produc�on 

      Drawing is not approved, make changes as noted

  __________________________________________________
       Customer Signature                                          Date  

Custom products require the execu�on of a Techlight NCNR (Non-
Cancellable/Non-Returnable) Product Agreement for order processing

 3X .31  6.00 
 4.50BC 

 120°  .1084 

 1.50 

 
.31 

 2.00 

 .11 

 3.00 

G

1/4

TACK 

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 132409PLT RMSTG12G X 6"RD 1
2 P142012HBSS 1/4-20 X 1/2 HEX SCREW 1
3 P1420KNSS  NUT 1-4-20 UNC HEX 1
4 132409T 2.00 STL TUBE 1

REVISIONS
ZONE REV. DESCRIPTION DATE APPROVED

TECHLIGHT.COM

SCALE:1:4

SIZE DWG.  NO.

A
REV.

MATERIAL

FINISH
PAINT

DO  NOT  SCALE  DRAWINGAPPLICATION

USED ONNEXT ASSY

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH      BEND 
TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

NAME DATE

CREATED

CHECKED

ENG APPR.

MFG APPR.

Q.A.

SHEET 1 OF 2WEIGHT:

CONFIGURATION

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
WWW.TECHLIGHTUSA.COM ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
WWW.TECHLIGHTUSA.COM IS 
PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

PRM 2.18.22

132409
WMHA -LBX THRU 

FASCIA PLATE

132409

STEEL

   CUSTOMER APPROVAL

  Drawing is approved, proceed with produc�on 

      Drawing is not approved, make changes as noted

  __________________________________________________
       Customer Signature                                          Date  

Custom products require the execu�on of a Techlight NCNR (Non-
Cancellable/Non-Returnable) Product Agreement for order processing

 3X .31  6.00 
 4.50BC 

 120°  .1084 

 1.50 

 
.31 

 2.00 

 .11 

 3.00 

G

1/4

TACK 

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 132409PLT RMSTG12G X 6"RD 1
2 P142012HBSS 1/4-20 X 1/2 HEX SCREW 1
3 P1420KNSS  NUT 1-4-20 UNC HEX 1
4 132409T 2.00 STL TUBE 1

REVISIONS
ZONE REV. DESCRIPTION DATE APPROVED

TECHLIGHT.COM

SCALE:1:4

SIZE DWG.  NO.

A
REV.

MATERIAL

FINISH
PAINT

DO  NOT  SCALE  DRAWINGAPPLICATION

USED ONNEXT ASSY

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH      BEND 
TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

NAME DATE

CREATED

CHECKED

ENG APPR.

MFG APPR.

Q.A.

SHEET 1 OF 2WEIGHT:

CONFIGURATION

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
WWW.TECHLIGHTUSA.COM ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
WWW.TECHLIGHTUSA.COM IS 
PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

PRM 2.18.22

132409
WMHA -LBX THRU 

FASCIA PLATE

132409STEEL

   CUSTOMER APPROVAL

  Drawing is approved, proceed with produc�on 

      Drawing is not approved, make changes as noted

  __________________________________________________
       Customer Signature                                          Date  

Custom products require the execu�on of a Techlight NCNR (Non-
Cancellable/Non-Returnable) Product Agreement for order processing

 3X .31  6.00 
 4.50BC 

 120°  .1084 

 1.50 

 
.31 

 2.00 

 .11 

 3.00 

G

1/4

TACK 

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 132409PLT RMSTG12G X 6"RD 1
2 P142012HBSS 1/4-20 X 1/2 HEX SCREW 1
3 P1420KNSS  NUT 1-4-20 UNC HEX 1
4 132409T 2.00 STL TUBE 1

REVISIONS
ZONE REV. DESCRIPTION DATE APPROVED

TECHLIGHT.COM

SCALE:1:4

SIZE DWG.  NO.

A
REV.

MATERIAL

FINISH
PAINT

DO  NOT  SCALE  DRAWINGAPPLICATION

USED ONNEXT ASSY

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH      BEND 
TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

NAME DATE

CREATED

CHECKED

ENG APPR.

MFG APPR.

Q.A.

SHEET 1 OF 2WEIGHT:

CONFIGURATION

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
WWW.TECHLIGHTUSA.COM ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
WWW.TECHLIGHTUSA.COM IS 
PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

PRM 2.18.22

132409
WMHA -LBX THRU 

FASCIA PLATE

132409

RMA090 ALUM

 .09 

 6.00 

TECHLIGHT.COM

SCALE:1:2

SIZE DWG.  NO.

A
REV.

MATERIAL

FINISH
PAINT

DO  NOT  SCALE  DRAWINGAPPLICATION

USED ONNEXT ASSY

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH      BEND 
TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

NAME DATE

CREATED

CHECKED

ENG APPR.

MFG APPR.

Q.A.

SHEET 1 OF 1WEIGHT:

CONFIGURATION

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
WWW.TECHLIGHTUSA.COM ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
WWW.TECHLIGHTUSA.COM IS 
PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

PRM 3.11.22

132408PLT
WMHA -LBX THRU 

FASCIA PLATE

132408PLT MKTG

Exterior Beauty Plate for  
Regular Arms < 60” 

- 132408XX

RMA090 ALUM

 .09 

 6.00 

TECHLIGHT.COM

SCALE:1:2

SIZE DWG.  NO.

A
REV.

MATERIAL

FINISH
PAINT

DO  NOT  SCALE  DRAWINGAPPLICATION

USED ONNEXT ASSY

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH      BEND 
TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

NAME DATE

CREATED

CHECKED

ENG APPR.

MFG APPR.

Q.A.

SHEET 1 OF 1WEIGHT:

CONFIGURATION

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
WWW.TECHLIGHTUSA.COM ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
WWW.TECHLIGHTUSA.COM IS 
PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

PRM 3.11.22

132408PLT
WMHA -LBX THRU 

FASCIA PLATE

132408PLT MKTG

RMA090 ALUM

 6.00 

 3X .31 

 1.69 

 4.50BC 

 120° 

   CUSTOMER APPROVAL

  Drawing is approved, proceed with production 

      Drawing is not approved, make changes as noted

  __________________________________________________
       Customer Signature                                          Date  

Custom products require the execution of a Techlight NCNR (Non-
Cancellable/Non-Returnable) Product Agreement for order processing

 .0900 

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 132408PLT RMA090 X 6"RD 1

REVISIONS
ZONE REV. DESCRIPTION DATE APPROVED

TECHLIGHT.COM

SCALE:1:2

SIZE DWG.  NO.

A
REV.

MATERIAL

FINISH
PAINT

DO  NOT  SCALE  DRAWINGAPPLICATION

USED ONNEXT ASSY

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH      BEND 
TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

NAME DATE

CREATED

CHECKED

ENG APPR.

MFG APPR.

Q.A.

SHEET 1 OF 1WEIGHT:

CONFIGURATION

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
WWW.TECHLIGHTUSA.COM ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
WWW.TECHLIGHTUSA.COM IS 
PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

PRM 2.18.22

132408PLT
WMHA -LBX THRU 

FASCIA PLATE

132408PLT

STEEL

 4.00 

 .25 

G

 8.00 

 8.00 

 8X .312 1/4

TACK 3X

 8.00 

 8.00 

 .75 

 .75  .75  .75 

 2.13 
 8X .312 

 .25 

 4.25 
 2.25 

3X .31
3@120

 2.00 

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 132406PLT RMSTP14 X 8"SQ 1
2 132406P RMP200 X 4.25"LG 1
3 P142012HBSS 1/4-20 X  1/2 HEX SCREW 3
4 P1420KN  NUT 1-4-20 UNC HEX 3

REVISIONS
ZONE REV. DESCRIPTION DATE APPROVED

TECHLIGHT.COM

SCALE:1:4

SIZE DWG.  NO.

A
REV.

MATERIAL

FINISH
PAINT

DO  NOT  SCALE  DRAWINGAPPLICATION

USED ONNEXT ASSY

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH      BEND 
TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

NAME DATE

CREATED

CHECKED

ENG APPR.

MFG APPR.

Q.A.

SHEET 1 OF 2WEIGHT:

CONFIGURATION

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
WWW.TECHLIGHTUSA.COM ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
WWW.TECHLIGHTUSA.COM IS 
PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

PRM 1.16.22

132406
WMHA -LBX THRU 

WALL REINFORCEMENT

132406

Interior Thru Wall Support Square Plate  
Heavy Duty - 132406XX 

STEEL

 4.00 

 .25 

G

 8.00 

 8.00 

 8X .312 1/4

TACK 3X

 8.00 

 8.00 

 .75 

 .75  .75  .75 

 2.13 
 8X .312 

 .25 

 4.25 
 2.25 

3X .31
3@120

 2.00 

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 132406PLT RMSTP14 X 8"SQ 1
2 132406P RMP200 X 4.25"LG 1
3 P142012HBSS 1/4-20 X  1/2 HEX SCREW 3
4 P1420KN  NUT 1-4-20 UNC HEX 3

REVISIONS
ZONE REV. DESCRIPTION DATE APPROVED

TECHLIGHT.COM

SCALE:1:4

SIZE DWG.  NO.

A
REV.

MATERIAL

FINISH
PAINT

DO  NOT  SCALE  DRAWINGAPPLICATION

USED ONNEXT ASSY

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH      BEND 
TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

NAME DATE

CREATED

CHECKED

ENG APPR.

MFG APPR.

Q.A.

SHEET 1 OF 2WEIGHT:

CONFIGURATION

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
WWW.TECHLIGHTUSA.COM ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
WWW.TECHLIGHTUSA.COM IS 
PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

PRM 1.16.22

132406
WMHA -LBX THRU 

WALL REINFORCEMENT

132406

STEEL

 4.00 

 .25 

G

 8.00 

 8.00 

 8X .312 1/4

TACK 3X

 8.00 

 8.00 

 .75 

 .75  .75  .75 

 2.13 
 8X .312 

 .25 

 4.25 
 2.25 

3X .31
3@120

 2.00 

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 132406PLT RMSTP14 X 8"SQ 1
2 132406P RMP200 X 4.25"LG 1
3 P142012HBSS 1/4-20 X  1/2 HEX SCREW 3
4 P1420KN  NUT 1-4-20 UNC HEX 3

REVISIONS
ZONE REV. DESCRIPTION DATE APPROVED

TECHLIGHT.COM

SCALE:1:4

SIZE DWG.  NO.

A
REV.

MATERIAL

FINISH
PAINT

DO  NOT  SCALE  DRAWINGAPPLICATION

USED ONNEXT ASSY

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH      BEND 
TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

NAME DATE

CREATED

CHECKED

ENG APPR.

MFG APPR.

Q.A.

SHEET 1 OF 2WEIGHT:

CONFIGURATION

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
WWW.TECHLIGHTUSA.COM ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
WWW.TECHLIGHTUSA.COM IS 
PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

PRM 1.16.22

132406
WMHA -LBX THRU 

WALL REINFORCEMENT

132406

STEEL

 4.00 

 .25 

G

 8.00 

 8.00 

 8X .312 1/4

TACK 3X

 8.00 

 8.00 

 .75 

 .75  .75  .75 

 2.13 
 8X .312 

 .25 

 4.25 
 2.25 

3X .31
3@120

 2.00 

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 132406PLT RMSTP14 X 8"SQ 1
2 132406P RMP200 X 4.25"LG 1
3 P142012HBSS 1/4-20 X  1/2 HEX SCREW 3
4 P1420KN  NUT 1-4-20 UNC HEX 3

REVISIONS
ZONE REV. DESCRIPTION DATE APPROVED

TECHLIGHT.COM

SCALE:1:4

SIZE DWG.  NO.

A
REV.

MATERIAL

FINISH
PAINT

DO  NOT  SCALE  DRAWINGAPPLICATION

USED ONNEXT ASSY

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH      BEND 
TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

NAME DATE

CREATED

CHECKED

ENG APPR.

MFG APPR.

Q.A.

SHEET 1 OF 2WEIGHT:

CONFIGURATION

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
WWW.TECHLIGHTUSA.COM ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
WWW.TECHLIGHTUSA.COM IS 
PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

PRM 1.16.22

132406
WMHA -LBX THRU 

WALL REINFORCEMENT

132406

Interior Thru Wall Plate Exterior Fascia Plate Exterior Thru Wall Plate

 35.5 

24.00
FROM TOP OF SIGN

JBOX WITH COVER
W/ 1-1/4" KNOCKOUT

(BY OTHERS)

INSIDE WALL MOUNT
REINFORCEMENT

PN#132406

1/4" WALL MOUNT 
HARDWARE/ANCHORS (7X)

(BY OTERS)

OUTSIDE FASCIA BEAUTY PLATE OR REINFORCEMENT PLATE
PN# 132408  (BEAUTY PLATE FOR REGULAR ARMS <60”) OR

PN# 132409 (REINFORCEMENT FOR LONG ARMS >60")

WALL DRILL
1.75" THRU

CAULK HOLE GAP
BEFORE MOUNTING 

BEAUTY PLATE

Vf+
Vf-

TO JBOX ACCORDING TO 
NATIONAL ELECTRICAL CODE (NEC) 
AND LOCAL CODES

120V~277V
LINE

COMMON

GROUND

DECIMALS
X.X = 0.030

X.XX = 0.010
X.XXX = 0.005

X.XXXX = 0.0005
FRACTION= 1/32

ASSY, 

Assem, LBX Installation 

SEE BOM

THE INFORMATION CONTAINED IN THIS DRAWING
IS THE SOLE PROPERTY OF TECHLIGHTUSA.

ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE
WRITTEN PERMISSION OF TECHLIGHTUSA IS PROHIBITED.WWW.TECHLIGHT.COMANGLE

X.X = 1.0
X.XX = 0.5

FINISH       
125

  

FINISH

DO NOT SCALE DRAWING

A

B

C

D

SCALE 

SIZE

CAD FILE

PART NO.

A
SHEET OF

REV.

DRAWN

CHECKED

UNLESS  OTHERWISE  SPECIFIED
DIMENSIONS ARE IN INCHES

1234

A

B

C

D

LBX Installation 
1 11:10

RKP

-

®

APPROVED

DATEDESIGN

RKP

SURFACE

SOLIDWORKS DRAWING

WEIGHT

1774.180
MASS PROPERTIES
DENSITY VOLUMESURFACE AREA

MATERIAL #:

MATERIAL:

MATERIAL SIZE:

DESCRIPTION
DATE

lbs/cu.in. sq.in. cu.in. lbs
AMOUNT OF PAINT

lbs

24 13

DATE

DATE

0


	Catalog # 3: 
	Project 3: 
	Type 3: 
	Color Temp 4: 
	Color Temp 7: 
	Color Temp 8: 
	Color Temp 9: 
	Color Temp 12: 
	Color Temp 11: 
	Color Temp 10: 
	Color Temp 13: 


